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§ Obtain the Fourier series of ¥y up to 2" harmonics f(x) is given by

REE 0 /3 | 2n/3 m | 4n/3 [ 5a/3 2t | 181 cor | 13

y=f(x) 198 | 130 1.05 130 | -0.88 -0.25 1.98

- Obtain the Fourier series of f(x) = =2in 0 < x < 21 Hence deduce that

(2 o 2 71 cot |12

; __; _S.._.;+........._;:- ~

| 3- Obtain the sine half range Fourier series of f(x)=x*in0 < x <7, [T} cor |12

£ i .

P - -

Lo . 1— x|, <

» ".med the Fourier transform of f(x) = { Ixl, forlx| <1

! % o sin?t T
; ;hatfo T dt = >

0, for|x|=1 and hence deduce

(7] | coz | 1>
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5 . 1,for |x| = a A 5
5. Fi =1 [7] | co2 | Lz
Find the Fourier transform of f(x) { 0. for x| = a’

6. |Find the Z-transform of cos nfand sinné. [71 | co3z | 12
Solve the: difference equatioﬁ: Upyo + OUp41 + 79un = 2" with uy = le = 0 using Z- o

7. 71 | co3 | L3
transform.

8. [Solve (D3 —3D +2)y =0. [7] | co4 | L1
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